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Option C: The differeni DBMS is usecl at each location and data are not distributed across

all nodes.

Op"ion O: The differe-nt DBMS is useC at each lccation and data are

nodes.

distributed across all

Which of the foliowing is a clisadvantage of replication;

Reduced network Traffic

Example Markup Language

Option D: X-Markup Language

What does a MongoDB collection consist of?

Option A: data

I

Choose the correct option for following questions. All the Questions are

compuIsoryandcarryequalmarks:.i..,.
A

Option A: used at each location and data are not distributed across all

Option B: used at each location and data are distributed across all

Option A:

Option B: If the database fails at one site, a copy can be located at another site.

Option C: I Each site rnust have the same storage capacity.

Each transaction may proceed rvithout coordination across the rretwork.

What is XML?

Extensible MarkUp Language

Option B: Extra Modern Link

Option C:

Option B: documents

Option C:
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5. Which MongoDB shell command should you use to back up a datubaset

Option A: Restore

Option B: backup.

Option C: mongobackup.

Option D: Mongodump.

6. Which of the following represent column in NOSeL

Option A: Field

Option B: Database

Option C:

Opti"" D
Collection

Do"r*ert

7. which of the following is not a:strong featqre for NosQL ,Iatabaqe$t

Option n: Scalability

Option B: Relational Data

Opiion C: Faster data acdess than RDBMS

Option D:

8. Wirich of the following is rhe limitation of JSON?

Option A foo many data types

Option B Complicated debuggrng

Option C: Suppor,t for only C

Option D:
--.1---- ., -

No Limits on Arrays and objects

9. Thedatathathaveatinreintervalassociatedwiththema@
valid are called as

Option A: 
I

Option B: 
i

Option C: 
I

Opt*" D: I

Timed data

m
r emporat oata

'Mod"t d"t"

Clocked data

10,

--
Option A:

A distributed database has which of the following advantages over a centralized

database?

Software Cost
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Data easily held across multiple servers 
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Option B: Software Complexity

Option C:

Option D:

Slow Response

Modular growth

Q2.
(20 Marks

Please delete the instruction shown in front of every sub question

A
l.

golve any Two 5 marks each

l1 Co re 2PC and 3PC protocol af disrributed databases.
111 What is CAP theorem?
B Solve any One l0 marks each
l. what is xML schema? Gtve student databias;e example for iidl

Schema. :

ll. e d is t ii b:;u t ea a a{Oot e sl,

Q3.
(20 Marks)

Please delete the instruction shown in front of every sub question

A Solve anv Two 5 xnarks each
I What iq XPath and XQuery in XML Databases
ii. What is sherdins in NoSOL..
ln. What are the difierent failures in distributed database?
B Solve any One 10 marks each
i Wriie a nofe on Spatial Da:iabase

Ei4on nq;i" fO oko4thmfor Di-ctributed Concurrency Control

(20 Marks)
Please delete the instrietlon showrt in front of every sub question

A Solve any Two 5 marks each
1 Exptoin Emt\eddbd Documents in MongoDB.
II Explain FeatureS of Gfsph l)otabase.
llt E-xplain diffu-rent operators in Spaiial database.
B !q!yp any One 10 rnarks each
i E*piain MbnEoDF Disffibuted Environnrcnt.
u Exploin Kq):t)olile data store of NoSQL databases.
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